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The duration of the exam is 12 Hours.

The Question Booklet consists of 100 Questions,
each with 4 Marks. The maximum Marks are
400.

Subject-wise division of 100 Questions are as

uelen 3mafér 114 que E

e URlen YRl # 100 T 3 aol Uedl W 4 3l &l
2 1 3iférepa 3id 400 31

O 100 Ul @ fauear fdaeur 38 UdR 2 : a1fird-25,

follows: Maths-25, Science-25, S.St.-20, fursir-25, Ao 37eR-20, 3ia30-20 3 WD
English-20, MAT-10. AowdI Teur-10 ug |
&  Candidates will be awarded 4 Marks for the | = 2 3@ oI ue ufd ues 4 3id ueH fpa siRiat |

indicated correct response to each question.

@  One mark will be deducted for the incorrect| =  dleld 3de c2If< U= ufd U2 1 3ich el SIRIN |

response to each question.

&  Space for rough work is also provided in the | Uﬁﬂlqﬁﬂﬂﬂﬁwmi\ﬁﬁwlﬂmﬁmaﬁﬂﬁ

Question Booklet. 2

—  "MATHS }—+«————

| , :
01. Arrange the given words in descending order according | O1. R W vt P D AH B IR JRIS! hH il

(1)1,3.4,2,5 (2)4,2.5,3,1
(3)1,4,3,2,5 41,3,5,2,4
02. What is the sum of the reciprocal of all the divisors of | 02.

(N1,3,4,2,5 (2)4,2,5,3,1
3)1,4,3,2,5 (4 1,3,5,2,4
6 @ TN ATSIDT & Eh¥ BT AT AT 3 2

ti their values . | IRed PN |
(1) Trillion | (1) Trillion
(2) Thousand : (2) Thousand
(3) Billion | (Billion
(4) Hundred | (4) Hundred
(5) Million I (5) Million

|

|

67 |
()1 ()2 I ()1 ()2
(3) less than 2 (4) greater than 2 I (3)2 ¥ (4) 2 3w
Space for IRough Work
PCP, sSikar  Class: V/Q-2 I IIT-JEE | NEET | OLYMPIADS i
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03. Maria bought a ribbon of length 250 centimeters.she | 03. iR = 250 WiEiex TS @1 U R e | S Udh

04.

05.

06.

07.

needs ribbons of 50 centimeters each for a project. How |

many ribbons can she cut from the bought piece?

(1) 4 25

3)6 47

How many hundreds must be added to 30 thousand to
get 1 million ?

(1)97 (2) 9700

(3) 97000 (4) 970000

What should be placed in the empty space so that the
sum of the fractions on each side of the triangle is same ?

7 9
(1) s (2) s

6 8
3) s “4) s
What is the H.C.F of 120, 144, 216 ?
(1) 38 (2) 24
(3) 120 (4) 144

Rani buys a watermelon, a papaya and a honeydew.
The mass of the watermelon is 2 kg, the mass of the
papaya is 785 g and the mass of the honey dew is 1.35
kg. Find the total mass of these 3 fruits

0

0

06.

07.

4.
5.

gioide @ o1 50 HeHeR das @ Reaw arfeu | @i
Y s U a8 o Red sic Jadl o7

(1) 4 Q)5

3) 6 47

30 BOIR # fobae Spsr Sired 81 fob 1 fafer= =t

IS 1L

(1)97 (2) 9700

(3) 97000 (4) 970000

GTell S8 H &1 T SfY ifcs 2ol & gdep vl WR
=il 1 ANT | Bl ?

7 9
() s () s

6 8
(3) s 4) s
122, 144,216 T HC.F. ®1 & ?
(1) 38 (2) 24
(3) 120 (4) 144

R Uep AR, Teb YdIel 3R Teb gilsy @éiach © |
RSl DT G 2 fbelimd &, adid ®T G 785 UM
2 3R 8ISy PT S 1.35 AU & | 571 3 Well &l
T GHAE FId BIFSTY

(1)4.135kg (2)1.67 kg (1) 4.135 fasum (2) 1.67 fdur
(3)2.505 kg (4)3.135kg | (3) 2.505 fapum (4) 3.135 T
Space for IRough Work
PCP, siar  Coss:via2 | IIT-JEE | NEET | OLYMPIADS 2
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08. Choose the correct option when rounded off to the I 08. 8! [ddey g+, Midvcad T SR dd Yulifdhd BT R
500000 HTT BIKT & |

nearest ten thousand gives 500000.

(1)492811 (2) 495213 I (1)492811 (2) 495213
(3) 509200 (4513076 | (3) 509200 (4513076
09. How many common multiples of 4 and 6 that are between | 09. 4 3R 6 & fopam @Td TS T Sl 30 3R 70 & 419
30 and 70 ? : g7
(H1 2)2 | (H1 2)2
(33 44 I (33 44
10. What is the missing number in the given pattern ? | 10. fau g e # I« AT T g 7?
|
(1)201 (2)202 | (1)201 (2)202
(3)203 (4) 205 | (3)203 (4) 205
11. Raman has a chain containing forty six hooks A hook is | 11. 39 & gy oy Reg Al Th T B | U Bh W
twelfth from the top. What will be its position from the | ¥ 9REd WM W T | A ¥ 3aa! Rerfa @ gefi?
bottom ? |
(1) 34 (2) 35t (1) 34 (2) 35t
(3) 37" (4)3™ (3) 37" (4)3™

FES & | FT AU 34 G& APhd 87

|
|
12. I am the smallest number, having four different prime I 12. ¥ W99 BIC! W& §, [ST9D IR AT 3T
factors. Can you find this ? |
|
|

(1) 2x3x5%7 (2) 3%5x7%9 (1) 2x3x5%7 (2) 3%5x7%9
(3) 4x5%x6x7 (4) 3x6x7x8 (3) 4x5%x6x7 (4) 3x6x7x8

13. Renu purchases two bags of weights 75 kg and 69 kg. : 13. ?{1 75 T iR 69 fum a9 & <1 &7 WGl © | ao
Find the maximum value of weight which can measure | PT T8 IMHTT 719 ST BN Ol SAD B dol DI Tl
the weight of the fertiliser exact number of times. | YT H AT D |
(1) 4kg Q) 3kg | (1) 4 @) 3 fmm
(3) 5kg (4) 6kg I (3) 5 T (4) 6 foam

14. 12 drums of milk have 84 litres of milk in them. Find the | 14. & D 12 $9 ¥ 84 e U B UP $H @I &l
capacity of one drum in millilitres. | fiyefielies & sra e |
(1) 7000 ml (2) 60000 ml I (1) 7000 forely (2) 60000 AT
(3) 700ml (4) 4000ml | (3) 700 foreft (4) 4000 THefT

I
Space for IRough Work

PCP sikar Class : V1/Q-2 I IT-JEE | NEET | OLYMPIADS 3
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15. How many whole numbers are smaller than 1 is I 15. 1 9 Bl fal yoi dw=m &
(H1 22 | (H1 22
(33 49 | (33 | 49
16. Which of the following statement is not true ? | 16. =ferRad # & &9 A1 HUF I 81 87
(1) 0+0=0 (2)0-0=0 | ()0+0=0 (2)0-0=0
(3)1x0=0 4)0+0=0 : (3)1x0=0 4)0+0=0
17. The sum of a two digit number and a number formed by | 17. ST 3l &1 AT 3R AT Bl SAcH A G+ H&T BT ART
reversing the digits is always divisible by . | A .o W foMTST B B
(112 (2)10 I (112 (2)10
(3) 13 @) 11 | )13 @) 11
18. Which one gives the least number ? I 18. Y BICT W&AT HIF W & ?
(1) 543217+ 181072 | (1) 543217+ 181072
(2) 543217 - 181072 | (2) 543217 - 181072
(3) 543217 x 181072 I (3) 543217 x 181072
(4) 543217+ 181072 I (4) 543217+ 181072
19. The Integer which is 2 more than [-7+(-2)] is |19 @ quifes Sl [-7+(-2)] | 2 AR B, ......... 5
(1)-7 (2)-9 | (1)-7 (2)-9
3) 11 4) -3 | 3) 11 4) -3
20. IfPand Q aretwo Integers such that P is the predecessor | 20. @fe P sk Qar T’ﬁ—cﬁ g o fh P, Q@ @ﬂ‘cﬁ g, qr
of Q ,then P-Q is equal to : P-Q RER ©
(1 2)0 | (1 2)0
3)2 4 -1 | 3)2 4 -1
21. Evaluate: | 21. HHT P
[£(364x8)+85}-3474+9]+3x15+5 : [£(364x8)+85}-3474+9]+3x15+5
1)2620 2) 7833 1)2620 2) 7833
ey 2 | ey 2
(3) 1620 (4) 6833 | (3) 1620 (4) 6833
22. Evaluate: | 22. FcAIDT BN
(-145)+79+(-265)+(-41)+2 | (-145)+79+(-265)+(-41)+2
(1)-370 (2) 263 I (1)-370 (2) 263
(3) 560 (4) 435 | (3) 560 (4) 435
I
Space for Rough Work
PCP, siar  Coss:via2 | IIT-JEE | NEET | OLYMPIADS s
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23. Kanchan dye dresses . She had to dye 30 dresses. She | 23, @ U AT 2 1S9 30 $9 ! | S 319 @ 20

has so far finished 20 dresses. What fraction of dresses
has she finished ?

T (IR &R ol 2 | S9- fha 9 (R fog € 2

I
I
)20 ) 30 L2 ) 30
()30 ()40 | ()30 ()40
52 02 - 02
(3) 3 “4) 1 : (3) 3 “4) 1
24. What fraction of numbers from 1 to 15 are prime | 24. 1 9 15 b BT SR BT DI GT 319 TS ERTY
numbers . | gl
b2 y ] L wd y 7
()15 ()15 | ()15 ()15
N Nk 8 Nk
®) 15 @ 15 I ®) 15 @ 15
25. Which one of the following best estimation of 5663 x | 25. frafaRaa & 9 @19 91 5663 x 2234 BT G99 36T
22347 | 3THA © ?
(1) 5000%2000 (2) 5700%2200 I (1) 5000%2000 (2) 5700%2200
(3) 56602230 (4) 56602300 I (3) 56602230 (4) 56602300
Space for Rough Work
PCP sikar Class : VI/Q-2 I IT-JEE | NEET | OLYMPIADS 5



www.princeeduhub.com I

PRINCE OLYMPIAD EXAMINATION

B 2pcPr B

E(SCIENCE —

| 26. F=fRad 4 U 319 | Wrel SaUTE Uy WIS @ |

27.

28.

29.

30.

31.

32.

. Which of the following food products are the best

sources of animal proteins ?

(1) Milk (2) Egg

(3) Cheese (4) All of the above
Deficiency of iodine in the diet leads to?

(1) Kwashiorkor (2) Goitre

(3) Marasmus (4) Beriberi

Which vitamin is known as the "sunshine vitamin" ?

(1) Vitamin A (2) Vitamin B

(3) Vitamin C (4) Vitamin D
Which vitamin is essential for good eyesight ?
(1) Vitamin A (2) Vitamin C

(3) Vitamin D (4) Vitamin K
Which plant is cotton fiber obtained from ?
(1) Jute (2) Flax

(3) Cotton (4) Hemp

The process of removing seeds from cotton fibers is
known as:

(1) Weaving (2) Spinning

(3) Ginning (4) Dyeing

Which of the following is used to make wool ?

2

28.

29.

30.

3

32.

drda g ?

()& (2) 3T

(3) IR (4) SIRKRH AT
7. 3MER ¥ IRATSH BT HH I FIT Il 87

(1) FARARGR (2) g

(3) AREAH (4) A

forg e &1 “aeens= fAer®=” & wu & ST ST
g7

(1) faerfa A (2) e = B

(3) faerta= € (4) e = D

e gfte @ foru i @ faetfie smawas © ?

(1) et A 3) e ¢
(3) e = D (4) e = K
PUTT BIgaR fbd Uig & T8I & 2
(1) e (2)u
(3) PUTH (4) wmT

1. ®U & 9 W IS Fprer= B Ufshar o1 a1 Sirdm &

(1) $Tg (2) PaTs

(3) 3Mers (4) ¥Tg

o 99 @ forw f=fearRaa # 9 foswa SuaiT fasan
ST 8 ?

(1) Sheep (2) Cotton plant (1) s (2) PUTH &I YT
(3) Flax (4) Jute 3)ud 4)S[e
33. The process of arranging two sets of yarns together to | 33. ®ust a9 & foTU <1 9Tl @& T &I U A1 yaiRerd
make a fabric is called: B DI UfhAT BT BB I o
(1) Spinning (2) Weaving OEDS (2) g
(3) Ginning (4) Dyeing | (3) 3MeT$ (4) S
Space for IRough Work
PCP sikar Class : VI/Q-2 I IT-JEE | NEET | OLYMPIADS 6



| www. princeeduhub.com || priNcE oLympiaD ExaMinaTion | o PcP i
34. Which part of the cotton plant produces cotton fibers? l 34. HUNE @ U &1 DI AT AN HUTH B N G411 & 2
(1) Root (2) Stem I (1) Sis () a1
(3) Seed (4) Leaf | (3) 91 (4) oY
35. Which of the following materials is transparent ? | 35. f=ferRaa # & &9 W 9l Reeff § 2
(1) Wood (2) Tron : (1) ADHS! (2) 8T
(3) Glass (4) Cloth (3) w1 (4) pust
36. Which property of a material helps it float on water ? : 36. & uerR & dF A1 o7 I U TR TR H AGS Rl & 7
(1) Conductivity (2) Density | (1) drefehdn (2) g-Tcd
(3) Hardness (4) Solubility | (3) BORAT (4) gerTeiierar
37. Which of the following is an example of a soft material? | 37. Fraforfad 3 & &9 &1 T Teref @1 Serev R ?
(1) Iron (2) Rubber I (1) araT (2) TR
(3) Diamond (4) Glass | (3) BT 4) wid
38. Which of the following materials is opaque ? | 38. fferRaa # & ®IF |1 ugred et & ?
(1) Water (2) Air I (1) aT=Y (2) B
(3) Wood (4) Glass I (3) B (4) B
39. Which of the following methods is used to separate stones | 39. IO W Y@RI @I AT ded & forv ffearlRaa # 9
from rice ? | foa fafy &1 SuaRT fasar Smar & ?
(1) Winnowing (2) Sieving | (1) wchT (2) BT
(3) Filtration (4) Handpicking I (3) freie (4) BT & AT
40. The method used to separate grains from stalks after | 40. ®Cls © dI€ SSAl W 3T Pl AT dRH & ol
harvesting is: : ST & o arelt fafer &
(1) Sedimentation | (1) 3rgdre
(2) Winnowing | (2) wedAT
(3) Threshing : (3) IRFT
(4) Filtration (4) e
41. Which method is used to separate a mixture of sand and I 41. 3T 3R TN & 8707 DI TelT v & feru fopw fafer ar
water ? | SUANT faar S @ 2
(1) Evaporation I (1) ITIHRT
(2) Filtration | ) e
(3) Sieving I (3) BT
(4) Winnowing | (4) chT
Space for IRough Work
PCP, siar  Coss:via2 | IIT-JEE | NEET | OLYMPIADS 7
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42.

43.

44.

45.

46.

47.
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The process of separating heavier and lighter components |
of a mixture using wind or by blowing air is called: |
(1) Threshing |
(2) Winnowing |
(3) Handpicking :
(4) Sedimentation |
Which of the following methods is used to separate two |
immiscible liquids ? |
(1) Filtration :
(2) Decantation |
(3) Distillation |
(4) Handpicking |
In which of the following processes does the solid settle I
down at the bottom in a liquid mixture ? |
(1) Filtration |
(2) Decantation |
(3) Sedimentation I
(4) Evaporation |
I
I
I
I
I
I
I
I
I
I
I
I
I
I

Which of'the following is an example of a plant product?
(1) Milk (2) Eges

(3) Rice (4) Fish

Which part of the plant do we eat when we consume
potatoes ?

(1) Root (2) Stem

(3) Leaf (4) Seed

What is a balanced diet ?

(1) A diet with only carbohydrates

(2) A diet that includes all nutrients in the right amounts
(3) A diet with only fruits and vegetables

(4) A diet with only proteins |

43.

44.

45.

46.

47.

| 4. AT BT SYANT TP IT BAT ISIHR 07 B 9T 3R

godb TTHI DI T B Dl UfhaT BT BT Il 8
(1) R

(2) BEEHAT

(3) BT ¥ AT

(4) STqHETE

fr=ferRaa # & foow fafSr @1 ST <1 arfasoia avat
ggrelf @7 e &’ @ forg fasam Simem © 2

(1) e

(2) =R / =T

(3) 3THe

(4) BT ¥ AT

fr=ferRaa < foow ufshar # o uered arar fAsror #
I 95 ST B ?

(1) e

(2) =R / =T

(3) 3T

(4) aTSdTHROT

f=ferRad § & @9 A1 UTey ITUTE Bl IS8T © 2
()& WS

(3) TTae (4) w5l

TId B9 AT @I & AT 89 UIE BT DI AT 9N T & 7

() (2) 7
(3) uch @) 9
HYfCTd 3ATER 4T B ?

(1) ®act HIEBIESC AT 3MMER

(2) W7 3MER SR T des e\ 7 # Wi &
(3) Dact Hel 3R Afsral dTelm 3MER

(4) Bad YIS aTel MBR

Space for IRough Work

PCP, Sikar

Class : V1/Q-2 I

IIT-JEE | NEET | OLYMPIADS 8
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48.

49.

50.
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Which mineral is important for strong bones and teeth
and should be included in a balanced diet ?

(1) Iron

(2) Calcium

(3) Sodium

(4) Potassium

Why is water considered an important part of a balanced
diet ?

(1) It provides calories

(2) It helps in digestion and maintains hydration

(3) It builds muscles

(4) It provides energy

When water and oil are mixed together, which liquid
forms the top layer ?

(1) Water

(2) Ol

(3) Both mix evenly

(4) They alternate layers

48. I AT WS g sfEAT 3R iell & fory Il 2 8ik

9 HfeTd 3MBR ¥ WA fdhar ST =1ty ?
(1) 3MRA
(2) dfeeraH
(3) wifsaH
(4) urelRrm

. U1 1 HfeTd 3IMER T 376H [BEAT FT HIFT STl © 2

(1) I8 HaAR UG &Rar &

(2) I% UTaH ® AGQ HRAT & 3R BIZSIM a-1¢ Gl ©
(3) I8 AUl @1 fmioT et @

(4) T8 ol U &Rl ©

. o9 U 3R I Dl Up 1T eIy Siray 8, df ok 1

TR T SR &1 IR G711 & 2
(1) 9=

()

(3) SH 99 WU ¥ e g

(2) T UH-GIR Pl U d&eTdt 5§

Space for Rough Work

PCP, Sikar

Class : V1/Q-2 I

IT-JEE | NEET | OLYMPIADS 9
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Bhimbetka is located in which of the following states? | 51. fiaea Frafifag 3§ & fra g 3 Reg & 2

(1) Gujarat | (1) ToixTd
(2) Madhya Pradesh | (2) HET e
(3) Uttar Pradesh | (3) SR U9
(4) Bihar | (4) faBr
52. Which among the following planets has rings ? | 52. freforRad 4 @ frdl W8 @ Beal § 2
(1) Earth (2) Saturn : (1) gt () o=
(3) Mars (4) Uranus | (3) WA 4) I
53. Grassland developed around years ago. | 53. @rd & HEH T o 9 ygel faaRaa gU Of
(1)500 (2) 700 | (1)500 (2) 700
(3) 12000 (4) 10000 | (3) 12000 (4) 10000
54. The value of the Prime meridian is: I 54. U HEITE @[ & 4H &
(1) 90° (2) 0° | (1) 90° (2) 0°
(3) 60° (4) 40° | (3) 60° (4) 40°
55. The total number of latitudes are: I 55. QAT BT B & &
(1) 180 (2) 360 (1) 180 (2) 360
(3)350 (4) both (1) and (2) : (3)350 | 4) (1) 3R (2) <1
56. The site of Burzaham is situated in: | 56. goisH WA sl Rerd o
(1) Kashmir (2) Bihar | (1) PR (2) faBr
(3) Rajasthan (4) Madhya Pradesh | (3) TSI (4) 5= gewm
57. In which language is "The Rigveda' written ? : 57. ‘g fea Amer # forar T © ?
(1) Vedic Sanskrit (2) Vedic Hindi | (1) dfee Hwpd (2) afeaw fE<T
(3) Vedic Tamil (4) None of these | (3) afew afder (4) STH 9 DIs 8
58. Which of the following is the oldest Veda ? | 58. fr=afeiRad 4 9 9 Had YRET dg © ?
(1) samaveda (2) yajurveda | (1) ImdE 2) H@?{
(3) rigveda (4) atharvaveda I (3) Fdg (4) 3rerdde
59. Which is the most recognisable constellation ? | 59. WY 3fId U S+ dTell & DI A1 3§ 2
(1) the saptarishi (2) the moon | (1) AxR ™ (2) dgHr
(3) the sun (4) the Mars I 3) @ (4) W

Space for IRough Work

PCP, Sikar Class : V1/Q-2 I IIT-JEE | NEET | OLYMPIADS 10
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60. Why is the shape of the earth geoid ? I 60. T DI ATBR 3T T ?

(1) It is slightly flattened at the poles (1) Iz %—Cﬁ TR oS! IueT B
(2) It is spheroid at the pole (2) I8 ga R MATHR B
(3) both (1) and (2) (3) (1) 3R (2) g1

(4) none of these (4) 379 & ®Ig T8l

61. SEIS fay a1 & ?
(1) TTRAT BB

61. What make the universe ?

(1) millions of galaxies

(2) millions of stars (2) drEt AR

(3) carth (3) gt

(4) satellites (4) SuUg

62. Where is the Arctic circle located— 62. 3MPicH g el Nerd o-

(1) Western hemisphere (1) afeaHT Treref

(2) Southern hemisphere (2) aferoly e

(3) Eastern hemisphere 3) TII e

(4) Northern hemisphere (4) ST e

(1) 8210E ) 30lo W (1) 8210E ) 30l°w
2 2 2 2

(3) 66l°N 4) 72103 (3) 66l°N 4) 72103
2 2 2 2

64. IST &I #dad ©
(1) 3rfaRe AR 9
(2) ARG AFD ATYAT
(3) AR AFD T

64. IST stand for
(1) internal specific time

(2) internal standard temperature

(3) Indian standard time

(4) Indian specific time (4) R fAftre |9 Y
65. 'The Discovery of India' book was written by 65. ARA B WISl &P ... g1 fordl 18 ot
(1) Jawaharlal Nehru (1) STaTERATe 8w
(2) Subhash Chandra Bose (2) g9y dg 919
(3) Mahatma Gandhi (3) HBTHT T
(4) Indira Gandhi (4) 3fe=T el

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
63. The standard meridian of India 1s I 63. YRT &I AFH TUTE T o T
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I

Space for IRough Work

PCP, Sikar Class : V1/Q-2 I IIT-JEE | NEET | OLYMPIADS 1
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Dholavira was divided into parts. | 66. iremdicr &t .. AT # forTifora fosam = o |
(1) Two (2) Four () ar (2) IR
(3) Three (4) Five (3) (4) dfa

67.

68.

69.

70.

What are the things that make people prejudice ?
(1) religious belief

(2) their colour and dresses

(3) their language festival and food

(4) all of the above

What was the main reason behind Muslim girls not
attending school ?

(1) early marriage

(2) poverty

(3) custom and tradition

(4) discrimination

Universal Adult Franchise means

(1) the right to vote for the rich people

(2) the right to vote for the educated

(3) the right to vote for women

(4) the right to vote for all adult citizen

American woman got the right to vote in
(1) 1919 (2) 1920
(3)1921 (4)1922

. U B A1 A © S AN ¥ gaius UeT el § ?

(1) a1t fasara

(2) S9IHT T 3R gg=Tar

(3) STDT AT, AIER 3iR Ao
(4) SIRKRH AT

. R Tsidal @ e 7 OH @ WY 980 R /T

oT?

(1) 9 38 H ol

(2) TR

(3) Sfa—Rarst 8k wu=T
(4) ¥igHTT

. Qi TIRe FAfeR &1 37 ©

(1) 3R @I B dic < BT ARPR

(2) forfera @Il @I dlc <91 @ SfddR

(3) Afgermell ®I dic < &I AWDHR

(4) T TR ARIRGT BT dIe < BT ITABR
M@ AT Bl H dic < P fdR e
(1)1919 (2) 1920

(3) 1921 (4)1922
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In the sentence "The teacher, whose patience is | 77. Choose the sentence with a gerund acting as a noun:

72.

73.

74.

75.

76.

commendable, explained the problem clearly," which |
word functions as a relative pronoun ?

(1) Teacher (2) Whose

(3) Problem (4) Clearly

Choose the correct form of the noun to fill in the blank:
"The committee reached a decision aftermuch

(1) Discuss
(3) Discusses

(2) Discussion
(4) Discussed
Identify the correct preposition for the following

sentence: "The book was hidden the shelf."
(1) Below (2) Above
(3) Undernecath

Which adjective in the sentence "His elaborate
explanation was surprisingly clear" describes the noun
"explanation"?
(1) His

(3) Surprisingly

I
I
I
| 5
I
a
I
I
I
I
I
I
(4) Over |
I
I
I
I
(2) Elaborate |
(4) Clear |
Which sentence contains an adverb modifying a verb? :
(1) She ran quickly to catch the bus |
(2) The bright sun was shining |
(3) His kind gesture was appreciated |
(4) The tall building was impressive I

In the sentence "John, who had never traveled abroad, |

was amazed by the city's architecture," what type of |
clause is "who had never traveled abroad"?
(1) Independent clause

(3) Adverbial clause

(2) Relative clause

(4) Noun clause |

79.

80.

81.

82.

(1) Reading helps you relax
(2) She was reading a book
(3) They read books every day
(4) He will read a book

8. Which sentence uses a correlative conjunction ?

(1) I'will goifit stops raining

(2) She likes both chocolate and vanilla ice cream

(3) He was tired, but he continued working

(4) The book was on the table

In the sentence "The children played in the park until
dusk," which word is a collective noun ?

(1) Children (2) Played

(3) Park (4) Dusk

Identify the abstract noun in the sentence: "Her bravery
in the face of danger was admired by everyone."

(2) Face

(4) Everyone

(1) Bravery
(3) Danger
Which preposition correctly completes this sentence:

"The keys are hidden the drawer."
(1) from (2) with
(3) n (4) for

Choose the sentence where the preposition is used
incorrectly:

(1) Heis good at playing the guitar

(2) The book is on the shelf

(3) They arrived to the airport early

(4) She looked through the window
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83.

84.

85.

86.

PRINCE OLYMPIAD EXAMINATION
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Which sentence is a complex sentence ?

(1) Ilike ice cream, and my friend likes cake

(2) 1 will go to the store if I have time

(3) She reads every day

(4) They traveled to Paris and Rome

Identify the compound sentence:

(1) I enjoy reading books, but my brother prefers
watching movies

(2) If you call me, I will come

(3) She sings beautifully in the choir

(4) The sun set, and the stars appeared

Which sentence is a simple sentence ?

(1) She went to the store because she needed groceries

(2) Although it was raining, he went for a walk

(3) The cat slept on the couch

(4) He studied hard, and he passed the exam

Choose the sentence with the correctly used adverb:

(1) She spoke loud at the meeting

(2) The train arrived early at the station

(3) He ran quick to catch the bus

(4) The soup tastes really goodly

| 87.

88.

89.

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
l 90.
|
|
|
|
|
|
|
|
]

Identify the adverb of frequency in the sentence: "He
always arrives on time."

(1) Always (2) Arrives

(3) On time (4) He

Which type of adverb is "quickly" in the sentence: "She
ran quickly to catch the bus" ?

(1) Adverb of manner

(2) Adverb of frequency

(3) Adverb of place

(4) Adverb of time

Which pronoun correctly completes the sentence: "The

book is " (where the book belongs to John)
(1) Mine (2) His
(3) Hers (4) Theirs

Which type of pronoun is "he" in the sentence: "He went
to the store"?

(1) Personal pronoun

(2) Demonstrative pronoun

(3) Possessive pronoun

(4) Reflexive pronoun
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91. Look at this series : 1, 5 5 E . What number | 91. W’%@?ﬂiﬁéﬁ 5 5 E ........... D d1g BIF AT
| . o
should come next ? | AT 3T =8y ?
= ] L wL ) L
()54 ()81 | ()54 ()81
2 1 | 2 1
Q)3 @ 6 | Q)3 @ 6
92. Look at this series 7, 15, 11, 19, 15, 23, ........ What I 92. S H@AT &l 7@ 7, 15, 11,19, 15,23, ... SHSD q1%
number should come next ? | DM Al =T 1 ARy ?
(1) 7 ) 10 | (1) 7 ) 10
(3) 31 4) 19 | (3) 31 4) 19
93. AAF, AEF, AIF, AOF, I 93. AAF, AEF, AIF, AOF,
(1) PIG (2) AUF | (1) PIG (2) AUF
(3) JUF (4) POT | (3) JUF (4) POT
94. CX, FU, IR, | 94. CX, FU, IR,
(1) LO ) HS I Lo ) HS
3)GT @) IR : 3)GT @) IR
95. AC, EG, IK, | 95. AC, EG, IK,
(1) MO (2) MN | (1) MO (2) MN
(3) LM (4) HP I (3) LM (4) HP
96. Sort these words into alphabetical order and mark the : 96. S YK! Pl qUHIAT HH H afkerd o iR ifeH &l
last one. fafed & |
I
(1) Butterfly (2) Butcher | (1) Butterfly (2) Butcher
(3) Butter (4) Butler | (3) Butter (4) Butler
97. Which letter is the midway between 3rd letter from left | 97. 3ot aofarer # 910 & IR 3R 3R <10 4 149 3R
and 14th letter from right in English alphabet ? & 419 DI A1 3_R T 2
(H)H Q)G | (HH 2)G
3F 4 E | 3F 4 E
Space for Rough Work
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98.

99.

PRINCE OLYMPIAD EXAMINATION
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If x means +, - means X,+means+and+means-,thenI 98. Ifc x dT 3rRf + B, - T 3k x B, + @1 3Rf + & 3R +

(6-30+38) x 14+12 =" |

(-1 2)2

3)4 (4) None

If Q means 'add to', J means ' multiply by ' , T means '
subtracted from' and K means ' divide by ',
60K2Q6 J12T10="?

(122 (2)28

I
I
I
I
I
I
I
I
(3)47 (4) None of these I

Pl 31k - §, AT (6-30+38) x 14+12 =17
(1) -1 (2)2
()4 (4) PIg &l

99. AfE Q 1 3f ‘ST ©, J 1 31 I[u HRAT B, T Bl

aref gerT ® SR K &1 31} 9nT <A g,
60K2Q6 J12T10="

(1)22 (2) 28

(3)47 (@) 37 ¥ BIg T

100. Select the correct set of symbols which will fit in the | 100,51t o1 ey W - oIl 14U T BT 4 fhe 81

given equation 20 16 4 5 =24

20 16 4 5 =24

(1) x, x, x 2)-, +, x I (1) %, x, x (2)-, +, x
(3) x, +, x (4)+, -, x I (3) x, +, x (4)+, -, x
I
Space for Rough Work
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